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BERRICEAT AL 14 34.1% 33 19.1%
KEHRMTEEE 14 34.1% 29 16.8%
MRIFEESE 0 0.0% 4 2.3%
RAIFICETSHIE 7 17.1% 11 6.4%
E 3 7.3% 0 0.0%
EHEEH 4 9.8% 0 0.0%
HKEERTIRE 0 0.0% 11 6.4%
KEMEERICEATHIIL 0 0.0% 21 12.1%
HEEHICEHISHIL 5 12.2% 12 6.9%
Y 1 2.4% 3 1.7%
#wELDOWE 4 9.8% 9 5.2%
KEREICETHIL 9 22.0% 18 10.4%
KEEHEICEHTHIL 1 2.4% 16 9.2%
FEERREDILE 0 0.0% 1 0.6%
DUTRRRY O L3R 1 2.4% 15 8.7%
EREEMKICEATSL 0 0.0% 56 32.4%
FERXEICETHIL 5 12.2% 4 2.3%
ER-REICEATHIL 0 0.0% 2 1.2%
ZDith 0 0.0% 0 0.0%
B 41 100% 173 100%




